Sample Programming Problem

Intermediate Division

(First appeared as Contest #3: 1981-82)

Problem:  On the way to the friendly neighborhood travel agent to pick up their tickets to ACSLland, Mr. Jerry and Mr. Don run into an old crony, Ms. Jan, who recently returned home from a vacation in ACSLland.  Ms. Jan tells them that the ACSL monetary system is rather strange.  In ACSLland, the basic unit is the “ri”.  One ri has a value of 2 American cents, and the only coins in ACSLland are 1, 5, 13, 23, 37 and 47 ris.  Your program is to help Mr. Jerry and Mr. Don plan their finances.  

Input:  Two positive integers, A and B, each less than 100.

Output:  Each of the following:

1)
Mr. Jerry has A ri; what is its value in American dollars?

2)
Mr. Don has B ri; what is its value in American dollars?

3)
Mr. Jerry has A ri in coins; what coins does he have?  Assume that he has the 
most 47 ri pieces possible, then the most 37 pieces, etc.  Express your answer as 
the 6-tuple: (A,B,C,D,E,F), representing the number of 47, 37, 23, 13, 5 and 1 ri 
coins, respectively.  (Parentheses and commas are optional – but coins must be 
listed in the order stated.)

4)
Mr. Don has B ri in coins; what coins does he have? (Use the same ground rules 
as in part #3.)

5)
How many different ways are there to make change for A ri?

6) How many different ways are there to make change for B ri?

Scoring: One point will be awarded for each correct answer.  Each answer must match the League’s answer to receive credit.  There is no partial credit.  The dollar sign symbol and leading zero shown in the first two outputs are optional.

Sample Input



Sample Output

     
Input Line #1: 12, 41



Output #1: $0.24








Output #2: $0.82








Output #3: 0,0,0,0,2,2 (in this order)







Output #4: 0,1,0,0,0,4 (in this order)








Output #5: 3

Test Data Input



Test Data Output


Input Line #1: 34, 50



Output #1: $0.68








Output #2: #1.00








Output #3: 0,0,1,0,2,1 (in this order)







Output #4: 1,0,0,0,0,3 (in this order)







Output #5: 17








Output #6: 43

